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Braindump2go.com!!! QUESTION 51A dynamically routed private line and a statically routed IPsec tunnel connect two offices.

What routing configuration prefers the IPsec tunnel only in the event of a private line failure? A.    floating static entryB.    EIGRP

varianceC.    bandwidth metricD.    OSPF maximum paths Answer: A QUESTION 52When designing a new enterprise campus

network, what topology should be used for maximum scalability? A.    flatB.    three-layerC.    starD.    partial meshE.    full mesh

Answer: B QUESTION 53A spanning tree topology can be simplified by deploying what Cisco IOS technology in the distribution

block? A.    VDCB.    vPCC.    Rapid PVST+D.    VSSE.    Flex Links Answer: D QUESTION 54An organization is deciding what

routing protocol to use throughout their network. What must be considered if routing is to be performed at the access layer? A.   

reduced scalability of the network when introducing a large number of switch blocks into the routing tableB.    centralized

management of access control lists at the distribution layerC.    reliability when implementing routing over spanning-tree at the

access layerD.    performance differences between core, distribution and access layer equipment Answer: D QUESTION 55What is

the maximum RIPv2 hop count for a reachable route? A.    13B.    14C.    15D.    16 Answer: C QUESTION 56Which Cisco

Wireless LAN Controller interface is used for out-of-band management? A.    service portB.    management portC.    controller port

D.    virtual port Answer: A QUESTION 57In which operation mode does the AP act as a dedicated sensor for location-based and

intrusion detection services? A.    monitor modeB.    promiscuous modeC.    discovery modeD.    sniffer mode Answer: A

QUESTION 58Which HSRP parameters must match, to ensure proper functionality? A.    group parametersB.    priority parameters

C.    preempt parametersD.    tracking parameters Answer: A QUESTION 59What three primary sources of information are needed

to perform a network audit? (Choose three.) A.    existing documentationB.    new documentationC.    existing network management

softwareD.    new network management toolsE.    management personnelF.    technical personnel Answer: ACD QUESTION 60

Which three layers comprise the traditional hierarchical model? (Choose three.) A.    core layerB.    distribution layerC.    access

layerD.    aggregation layerE.    network layerF.    Internet layer Answer: ABC  Recommend!!!  Valid Braindump2go Cisco 200-310

Exam Dumps with PDF and VCE 277q Dumps Download: http://www.braindump2go.com/200-310.html   [100% Exam Pass

Guaranteed!]   More Cisco 200-310 Exam Quesrtions and Answers - Google Drive: 1.|Cisco 200-310 Exam Dumps and 200-310

Exam Questions 277q Download: https://drive.google.com/folderview?id=0B272WrTALRHcSFFvVDhqNHJNUVE&usp=sharing

2.|Cisco 200-310 Exam VCE and PDF Dumps Download:

https://drive.google.com/folderview?id=0B272WrTALRHcSUhiTUpabWZfYTg&usp=sharing

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 1/1  |

http://www.mcitpdump.com/?p=4501
http://www.profprojects.com/?page=upm

